< 00, > (M)

RatioI

<op/p. > (70)

Ratio

<o @> (rad)
o
=
a1

o
[N

.........................

o
N

.....

ki g cfrrns

107 1

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)
o
=
a1

107 1

.................................................

2 3
TPlpoT (PCA t%obeamliné[f)

—=— DQM_V0001_R000000001__Global__cmssw__RECO
—e— DQM_V0001_R000000001__Global__mkFitOriginal__RECO
—— DQM_V0001_R000000001__Global__mkFitNew__RECO

100r

®
o
I

o
=]
I

N
o
I

7Js| SICRTIRN 1 IORRR I

l@c' vl
1:— """"""" 5 R S

1071 1

.....

1071 1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

—~

100

107 1




	Contents
	Page 1


